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(Indian Economic Development)
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The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.
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1.  Answer any ten questions : 10x2=20

(@ @ ™IS ered Tew we)

a.

What is disguised unemployment?
AvRd (I @ 6 @R

Mention few causes of income inequality.

R RACHA g el Srad Il |

. What is 'Human Poverty Index' (HPI)?

W2 wifsw s 62

What is the full form of MGNREGA? What are the objectives of MGNREGA?
MGNREGA-93 7zt 5idf 52 @3 ooy 2

What are the main sources of the revenue of the Central Government?
TR PR A @ 2aie el & e

Which sector creates largest employment in India?

TS (P (737 FAGE (@ ORI I 2

What do you mean by Poverty line?

wifsw @ S 2

What is Gender Development Index (GDI)?

forst Tz b v e

What is Operation Barga?

sioficae 3f &2

What is NABARD? When it is established?

NABARD-f5? @b 92+ Zlfore =2

Write two merits and demerits of Green Revolution.
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1. Define indirect Tax
AT I &R WIS |
m. What is variable reserve ratio?
AR TG SATS T F @RA2
n. What is GST? In which year it was introduced?
GST-f5? @l (I ICeT wep =2
0. What is Globalization?

i 50

Answer any four questions : 4x5=20
(@ A A ets Ted wie)
a. Distinguish between economic growth and economic development
LATeF 27 ¢ wLAfes TRAEE A AL @ele |
b. Evaluate the Government policies to eradicate poverty during last few decades.
oI TRT WA AW GRS G 2 ARl AR JeniRa S |
c. Explain how HDI is constructed.
HDI I wica ol i = 1 iyl el |
d. Discuss briefly the role of small scale industries in India's economics development.
CIA0ed ST TAACT FHITO RET @Fg AN I |
e. Discuss briefly various monetary policies taken by RBI to control liquidity.
oiFer fTrEe Rae wima [fen wifds Sifowf SiEmwa @
f. Mention main features of Centrel-State relation in India.
SRS (TG ST T[F 24 @ S Fel |

Answer any two questions : 2x10=20
(@ @I 7o et Ted wie)
a. Discuss the causes of low productivity of Indian Agriculture.
SR FRA T SAMARTOR TR SN S |
b. Explain the sectoral composition of GDP and employment during recent years.
TSI I SRS GO TN QIR FORTIER [TSINT 75 SCEAD 41 |
c. Discuss briefly the role of commercial bank in economic development.
weftafes Tmae e iEa ol MEweel SETs @ |
d. Analysis the features of India's foreign trade in recent years.
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